Q1.

a)

Tptitle <(7Tbid (Orders) — mpiq (O-quantity<100(07'ders))) X BOOkS)
b)

nauthor((aprices40800k5) > Orders X (Jzipcode=12345CuStomers))
c)

Tcname <<"cid((0year=2000B00kS) > Orders) NTgq (unantityzloAprice>100(BOOkS ™ Orders)))

D% Customers>

d)
p(TMP1,Orders)
p(TMP2,TMP1)

p(TMP3, tryp1pia(TMPL ™ (rypy pia=tmp2.bia Y\ TMP1cia<>TMP2.cia) T MP2))

Tauthor (T MP3 X Books)

p(TMP1, Customers)
p(TMP2,TMP1)

p(twoormore, wryps.cia(TMP1 ™ (ryp1 cia<>Tmp2.cia YN (rMP1 zipcode=TMP2 zipcoae) TMP2))

Tpeicte (0, Customers — g gtwoormore) X Orders X Books)



Q2.

a)
SELECT B.AUTHOR
FROM BOOKS B, ORDERS O
WHERE B.BID=0.BID AND B.BID NOT IN (
SELECT 01.BID
FROM ORDERS 01, CUSTOMERS C

WHERE 01.CID=C.CID AND C.ZIPCODE <> ‘02125’

)

b)
SELECT C.zipcode
FROM Books B, Orders O, Customers C

WHERE B.bid=0.bid and C.cid=0.cid and O.quantity >=10 and B.author LIKE “Cod%"

c)

SELECT C.cname, MAX(B.price)

FROM Orders O, Books B, Customer C

WHERE C.cid=0.cid and O.bid=B.bid and B.year=1990

GROUP BY C.cid, C.cname

HAVING 5 <= (SELECT (COUNT(*) FROM ORDERS 01, BOOKS B1

WHERE 01.BID=B1.BID AND 01.CID=C.CID)



d)
SELECT B.btitle
FROM Books B WHERE NOT EXISTS(
SELECT C.zipcode from Customers C
MINUS
SELECT Cl.zipcode FROM Orders O, Customers C1

WHERE C1.cid=0.cid and O.bid=B.bid

)

e)

SELECT C.cname, SUM (O.quantity * B.price)

FROM Customers C, Orders O, Books B

WHERE 0.bid=B.bid and C.cid=0.cid and C.zipcode="02125’

GROUP BY C.cid, C.cname

f)
SELECT TMP.zip
FROM (SELECT C.zipcode AS zip, SUM (O.quantity * B.price) AS TotalAmount
FROM Customers C, Orders O, Books B
WHERE O.bid=B.bid and C.cid=0.cid
GROUP BY C.zipcode
) TMP

WHERE TMP.TotalAmount = (SELECT MAX(TotalAmount) FROM TMP)



